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2024
ECONOMICS
( Honours Core )

Paper : ECO-HC—-4016

( Intermediate Microeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

Coiq ePTYRd e fi

fa) What is Pareto optimality?
CPIC” el 2
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(b)

(c)

(d)

(e)

(g)
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(2)

Is there transportation cost under
perfect competition?

o afecafronEe Iwwe «(Rae T Sio ?
What is market failure?

TR gerer 52

What is the shape of MR curve under
second degree price discrimination?

B ot = Reciesrs A Sr @9
S @I W2

Define supernormal profit,

SEyrelfds wres s |

What is a perceived demand curve?

e bR 3 6 2

Write correct or incorrect :

“Under monopolistic competition, there
are a few sellers.”

WA S e

‘iR fsEdl TmEe I R e
W i”

{ Continued )

24A/702

(3)

(h) What is oligopoly?
fter @M 2

(i) What is meant by moral hazard?
s Retfe ot 1 gam 2

() What is a two-person game?

fa-ofe cm fo o

Answer the following questions :

o AR Teq

(@) What is a contract curve?
pe 1 2

(b} Mention two important characteristics
of public good.

rered] U9 o1 e Cafier Tomy o9 |

(c) What is product differentiation?

A R 7

2x5=10
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(4) (5)

(d) Mention two applications of game {d) How is the peak-load pricing done?
theory. Explain.

€1 O I Sl STRY 4 | sieies $1-¥em fves & = = 2 v 4

fe) What is information asymmetry? {e) Explain the Bertrand equilibrium.

TGS RIS A1 T4 |

oY e i 2
(i Briefly explain the concept of adverse
selection.
3. Answer any four of the following questions : ﬂﬁvﬁ o8 g Fﬁ?ﬁ EIRIESIN
Sx4=20
O I R I WG T feat 4. Answer the following questions : 10x4=40
©o 2T ey fi

fa) Explain briefly equilibrium  and

efiiciency, undesiplice: exchange {a) Discuss the equilibrium  price

o4f R cvqe sremer s el e and output determination under
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S I 990 | monopolistic competition.
TR AN TWEO TV W w@
(b) What is Coase theorem? Explain. AT R SeEe 4 |
I O 7 IO FA Or /531
Compare perfectly competitive

(c) Explain the ‘prisoner’s dilemma’.

g fayr’ 4y 497 |

{ Continued )

equilibrium with monopoly equilibrium.

of dfefenTe wPEe W G
SRS RCE R T
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(b)

(c)
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(6)

Discuss the equilibrium of two-person
zero-sum game with maxi-min and
mini-max strategies.

‘- ue RR-a @ SRS,

-3 w5~ (77 SrPel el F |
Or /9%

Discuss the problems associated
with the markets with asymmetric
information.

Ty Y IEET NS Hve FEAPEZ
e 4 |

Discuss how Pareto efficiency in
production is achieved.

T (AT Tl (RIS A =,
AT 41

Or /9571

How are equilibrium price and output
determined under third degree price
discrimination? Discuss.

o @R W ReeneaTe RO T Wi
Teoqm foweg e 97 28 7 S 41 |

( Continued )
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(7)

(d) Discuss how production possibility

frontier and social indifference curve
determine allocative efficiency.

Seoqre SRS @91 e AF faeers @I
e SRS vl el 3¢9, SeETsa 34 |

Or /5311
Discuss how both positive and

negative externalities can lead to
market failure.
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